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Afswer alt queslions' Each

1. P(AuB)is the Probability

2. For lhe norrnal dislribLition,
.levlations will include whal
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lhe mean plus and mrnus 1 96 standard

per cent olthe observatLons t
d) 99b) 90 c) 95a) 85

3

. The Probabiliiv oJ an event lies between

PART'B

Answer any four quesiions Each quesuon cariies

5. What is posilive ancl negatlve correlation ?

6. Whai ls moving average ?

7. Define Probabiliiy

8. Whal is Poisson distributlon ?

9. Whal is rcgrcssion llnes ?

1 0 Whal is addition theorem in prcbablL iy ?
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PART. C

ii"l",^*, "" qLresnofs (Nor exceecr ns one pase). Each qlesrion

1l Whai ts Bayes lheorem ?

12. Exptain:

b) Combinarion

c) l',4utua y exc/irsive evenls

13. Two jldges in a dance compelilion rank the 12 entries as to ows :

X: 1 2 3 4 5 6 7 I 9 10 ii 12

Y:12 9 6 i0 3 S 4 7 A 2 | 1

Whai degree oiagreemeni is ihere berween lhelLrdgmenis oJ lhe rwo
jLrdges ?

14. A bag conrains 6 whiie,4 red and r0 back bals. Two ba|s are drawn
at random. F nd rhe probab |ry rhar they wlt bolh be btack.

lq Crl ur.erne oelicrenrol.orretdfion lor h".olow^9d"rr
X: 918 18 20 20 23

Yt23 33 23 42 29 32

16 A bag conlains 5 while and 3 black bals. Two ba tsare drawn at random
one afterthe other without reptacemeni. Find lhe probabitityihat bolh
balls drawf are btack



1 7 calculale irend values laking a 3 veanv period of moving

lhe loLowing data:

Year: 2003 2004 2005 2006 2OO7 2oO8 2009 2010

Sales ,, lO I 'z
(in hundEd unils) : 5 /

rllt L[1Ll t]lllNlllllllll lllLlllll
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2013 2014 2015 2016 2417Year: 2011 2412

(inhundredunils): 13 17 1S 12

18 How many permulalions ancl combinations can be oblained iiorn 6

objecrs laken 3 al a times ? (6t3=18)

PABT D

Answer any two questions Each question ca es I marks'

19. Whal ls corcLation ? Discuss lhe rneihods used lor calculaling

20. Find the lwo regression equatlonsirom the JoLLowing dala:

Age ol Husband: 18 19 20 21 22 21 24 25 26 27

Ageolwife : 17 17 18 l8 19 19 19 2a 21 22

21. a) Acoin slossedslxtimes What is ihe probabllitv oi oblaining tour

or more heads ?

b' A Je s-rancp sales'ra 'eh< 
o' hp averaqe 3 'le r\-rance

' -^"--^" ;", opl lrse Po 5son s la{ to c'lcula'e lhe p'obab ry

[";:r::;"e;;.4:; *, ro. o, nore po ios bur'"'',ni!.roo


